076
" v 1.93
REF. -49 OPT. SCREW @ @ @ F
(WHERE APPLICABLE) B’ / %
375 L
- = . 9.53
I | :
PTH PATTERN
E
REF. -50 OPT. SCREW
(WHERE APPLICABLE)
PART NUMBER LEGEND
31
— — = TYP
& 75 /-7 -XX-XX-X
D
[ @ TN SER\ESJ
i TERMINAL STYLE
‘ 38 142 -
95 ¢
| 4 CIRCUIT QTY (2 TO 26)
‘ * ‘ ﬂ(STD) OPTION (-49 BRASS,PHIL/SLOT SCREW) c
@ A ‘ 11.9 (-50 CLAMP WASHERPHIL/SLOT SCREW)
V (-C NO MOUNTING ENDS)
NOTES.
.03
@ e % TERMINAL LENGTH I
1. MATERIAL: SEE TABLE 16 -55=54
2. FINISHES: SEE TABLE - '73; .- 7575
3. PRODUCT SPECIFICATION: PS-38710-001 ' -81=.81 )
4. 'XX' REFERS TO NUMBER OF CIRCUITS.
5. ASSEMBLY |S R HS COMPL'ANT E%E QUALITY GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS TH‘RD ANGLE
© B3S| |sympoLs| (UNLESS SPECIFIED) INCH ONLY 2:1 INCH ©d PROJECTION
© g g g — mm ‘NCH DRAWN BY DATE TITLE » |
SSRSZ|\/=0 [4PLAGES|E—- |2-—  BVMURTHY  2015/06/30 953MM [.375"] SR BTS
5 |XX |®6-32 PH/SLOTTED SCREW W/WSHR (OPTION -50) |STEEL ZINC 8 = SPACESE—— 005 [oExe o e WIRE WRAP NO MTG
4 XX |#6-32 PH/SLOTTED SCREW (OPTION -49) BRASS NICKEL a2x =&\§/~0 [ZPLAGES[E043 [+.01 RSTONE 2015/06/30
e = TPLACE 1203 +-— APPROVED BY DATE
3 |XX |®6-32 PH/SLOTTED SCREW (STANDARD) STEEL ZINC Qi =22 :O CPATE T 11— JEMURPHY 2016/07/ 11 A
) XX | TERMINAL, WW SN-KT BRASS TIN H % 2 g ; ANGULAR + 2 © MATERIAL NO. DOCUMENT NO. SHEET NO.
1|1 [INSULATOR POLYESTER (PBT)|BLACK LDoExo DRAFT WHERE APPLICABLE| SEE SHEET 2 SD-38710-0306 1 OF 2
rooo= UST REMAIN SIZET THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
ITEM | QTY | DESCRIPTION MATERIAL FINISH A @ WITHIN DIMENSIONS B |INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSIONT
Rev. @ 3012/00 1 9 8 7 | 6 5 4 | 3 | 2 | 1 N



10

6 5 4 3 2 1
u OF DIM. "A” DIM. "B’
CIRCUITS
“XX* in mm in mm
07 53 71 375 953
03 121 31 750 | 19.05
Gl 158 20 25 | 2856
05 19 50 1500 | 360
0 233 59 875 | 4763
a7 271 69 2250 | 575
08 3.08 78 2625 | 6668
GE 346 88 3000 | 76.20
10 353 57 3375 | 8573
7 421 07 3750 | 95.25
7 458 116 L725 | 0478
13 496 126 2500 | 11430
1 533 135 4875 | 17383
5 571 145 5750 | 133.35
76 6.08 54 5625 | 14238
7 6.46 164 6.000 | 15240
B 6.83 173 6375 | 16193
E 721 183 6750 | 17145
20 758 193 7725 | 18096
21 7.96 202 7500 | 19050
22 8.33 202 7875 | 20003
23 8.71 221 8250 | 20955
24 9.08 23 6625 | 219.08
25 9.46 240 9000 | 228.60
76 983 250 9.375 | 238.3
E % E GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS
8=s SYU@B%US (UNLESS SPECIFIED) INCH ONLY 2:1 INCH ©d gg\[g%JDECATN‘OGNLE
- g g g E— mm INCH DRAWN BY DATE TIT )
SESSZING/=0 [ZPLACES[E—- |£-— [SYMURTHY  2015/06/30 9.53MM [.375"] SR BTS
< £ 3 PLACES|f —- |£.005 _ |CHECKED BY DATE WIRE WRAP NO MTG
nixE, 52| \/~0 [2PLACES[£045 [£.01  RSTONE 2015/06/30
[TH] S % % % % j PLA[E + 03 + - APPROVED BY DATE
Qe =0 F [\§/-0 [0PIAGE[E—- [E-—- FMRPHY _ 2016/07/11
wo 254 ANGULAR + 2 ° MATERIAL NO. BGOCUMENT NO. SEETO
OO =% DRAFT WHERE APPLICABLEL_ 387100306 SD-38710-0306 2 OF 2
oo MUST REMAIN SZET THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
A o WITHIN DIMENSIONS INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
Rev. @ 3012/00 1 7 \ 6 5 4 \ 3 \ 2

\ 1



10 9 8 7 5 4 3 | 2 38711
A OPTIONAL
SCREW
C)“*\\ 9.53
2 TYP.

!

—— ¢

1_57J

©0)

\ OPTIONAL

SCREW

2.8
M 062
10.7
—— = REF.
42
NOTES: M4
45

1. MATERIAL: SEE TABLE

2. FINISHES: SEE TABLE.

3. PRODUCT SPECIFICATION: NOT REQUIRED

4, *XX" REFERS TO NUMBER OF CIRCUITS. ===] |ouaLITY| GENERAL TOLERANCES DMENSION STYLE ] ™ [© ] IHIRD. ANGLE

5. ROHS COMPLIANT. = SS| |symBoLS| (UNLESS SPEC\F\E‘DN>CH B MM/IN - T\TLE2:1 INCH PROJECTION

nNEss8 mm
ESSSz\W-0 [TPAGSE — |5 FHILE 2006/05/15 953MM [.375] SR BTS
5 |Xx |#6-32 PH/SLOTTED SCREW W/WSHR (OPTION -50) | STEEL IN, CLEAR CHROMATE|  of 2 TPLACE == 1005 loEcen DATE RA ASSY NO MTG
4 XX [46-32 PH/SLOTTED SCREW (OPTION ~49) BRASS NICKEL PLATE < 2 =g \&/=0 [2 PLACES|£0.13_[.07 RDEROSS 2006/05/15
W==x % & 1PLACE |¥03 +--—- APPROVED BY DATE /N
3 XX |#6-32 PH/SLOTTED SCREW [STANDARD) STEEL IN CLEAR CHROMATE| o = 2 S 2 NCULAR £ 7= RDEROSS 2006/05/15 "olex - MOLEX INCORPORATED
2 XX | TERMNAL, WW SN-KT BRASS TIN PLATE We 28 MATERIAL NO. DOCOMENT 1o, SAEETNO.
1|1 |NSULATOR POLYESTER (PBTI |BLACK Lo Erd DRAFT WHERE APPLCABLEL SEE CHART | SD-38711-005 1 OF 2
ruoo< = W\Tm\L[J\/SE\@EE/\F//‘SA\WNS THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX

ITEM |QTY |DESCRIPTION MATERIAL FINISH A ¥ B INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION

To_frame_B_P_ME_T 9 8 7 ‘ 6 5 4 ‘ 3 ‘ 2 1

Rev. D 2004/04/02




10 9 8 7 6 5 4 3 2 38711

NUMBER OF DM, DM, MATERIAL NO. [MATERIAL NO. |[MATERIAL NO. [MATERIAL NO.
CRCUITS "XX’ A B (OPTION -0 [(OPTION ~C-49) |(OPTION -C-50) |UNSULATOR)
02 21 [83] [953 [379] 367115302 367115602 387115902 367180035
03 307 (210 [1905  [750] 387115303 387115603 387115903 387180036
04 404 [158] 2858 [1425] | 387115304 387115604 387115904 387180037
05 498  [196] [3810 [1500] | 387115305 367115605 387115905 367180038
06 592 (2331 [4763 [1.875] | 387115306 387115606 387115906 387180039
07 688 271 5745 [2.250] | 387115307 387115607 387115907 387180040
08 783  [3.08] 6668 [2.625] | 387115308 387115608 387115908 387180041
05 878 [346] 7620 [3.000] | 387115309 387115609 387115909 387180042
10 973 [383] [8573 [3.375] | 387115310 367115610 387115910 387180043
11 1069 [421 9525 (37501 | 387115311 387115611 387115911 387180044
12 1163 [458] [104.78 [4125] | 387115312 387115612 387115912 387180045
3 1260 [4.96] [11430 [4500] | 387115313 367115613 387115913 387180046
14 353  [533] [12383 [4875] | 387115314 367115614 387115914 387180047
15 1450 571 13335 [5.250] | 387115315 387115615 387115915 387180048
16 154.4  [6.08] 14288 [5.625] | 387115316 367115676 387115916 367180049
17 1641 [6.46] 15240 [6.000] | 387115317 387115617 387115917 387180050
18 1735 [683] [16193 [6375] | 387115318 367115618 387115918 387180051
19 1831 [7.211  [171.45 [6.750] | 387115319 387115619 387115919 387180052
20 1925 [758] 118098 [7.125] | 387115320 387115620 387115920 387180053
21 2022 [796] [19050 [7.500] | 387115371 367115621 387115921 387180054
22 216 [833] 20003 [7.875] | 387115322 387115622 387115922 387180055
23 2212 871 20955 [8.250] | 387115323 387115623 387115923 387180056
24 2306 [9.08] [21908 [8.625] | 387115324 387115624 387115924 387180057
25 2403  [9.46] 22860 [5.000] | 387115325 367115625 367115925 367180058
26 2496 19831 [238.43 [9375] | 387115326 387115626 387115926 387180059
g ‘S E GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS TH‘RD ANGLE
SssS SQYU%&YS (UNLESS SPECIFIED) MM/IN 2:1 INCH © CIpROJECTION
% == _— mm INCH DRAWN BY DATE TITLE
WESSSz\W-0 [TPacsE — [z FHILE 2006/05/15 9.53MM [.375] SR BTS
Og £ 3 PLACES|E - |£.005 |CHECKED BY DATE RA ASSY, NO MTG
=S92 2/8\/=0 [2PLACES|[z0.13 [:.01  RDEROSS 2006/05/15
w << = é = % 1 PLACE + 03 +-— APPROVED BY DATE /\
%% ESE ANGULAR £ 2 © RDEROSS 2006/05/15 'TE’_IEX MOLEX INCORPORATED
% =58 MATERIAL NO. DOCUMENT NO. SHEET NO.
Ho=5g DRAFT WHERE APPLICABLE, SEE CHART | SD-38711-005 2 OF 2
NLmoo < WWWNSE‘MREENMSA“ONNS SIZET THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
A g INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
TS o ) ? 7 E g « 3 : 1




10 9 8 7 6 \ 5 \ 4 3 \ 2 \ 1

REF. -49 OPT. SCREW

076
(WHERE APPLICABLE) A 53
] o & /P
Lol mll z |
Wﬂ L AW 9.53
— .
REF. 50 OPT. SCREW | 1|4== 63
(WHERE APPLICABLF) i 16.0 PTH PATTERN
I— |
|
L < J 3 CIRCUITS SHOWN
] 375 e AS REFERENCE

T 953

31 ™ T 5a

. kﬁTyp 2.8
SN | /“’\UD @ ‘% PART NUMBER LEGEND

]
ul
o

/1-8-XX-XX

[ [
7 7
i 1 | | SERIES
!
@J[ﬂ * TERMINAL STYLE
.OBJL ) 6J
0.8 T CIRCUIT QTY (2 TO 26)
NOTES:
)

W
@
N
~
N}
‘ @)

O |

S
~

E=!
—
A

O

(@)

OPTION (-49 BRASSPHIL/SLOT SCREW)

1. MATERIAL: SEE TABLE.
5 EINSLES. SEE TABLE (-50 CLAMP WASHERPHIL/SLOT SCREW
3. PRODUCT SPECIFICATION: PS-38710-001 (-C NO MOUNTING ENDS)
4. XX’ REFERS TO NUMBER OF CIRCUITS.
5. ASSEMBLY IS RoHS COMPLIANT. Z2=] [aualiTy (GUENNLEERSASLSTPOELCE‘FRESEES DMEF@SWWE SEA;E DE?ENCUHN‘TS © ] gg\[geJDECATN@GNLE
S=5| |SYMBOLS :
858550 i NGy wsiosn] 9.53MM [375°] SR BTS
S| \W/=0 [4PLACES|t—- [+--—- . .
5 XX |#6-32 PH/SLOTTED SCREW W/WSHR (OPTION -50) |STEEL ZINC § c SPAGESE — 1005 [Eckep & DATE RA ASSY, NO MTG
4 |XX |26-32 PH/SLOTTED SCREW (OPTION -49) BRASS NICKEL a2x =&\§/~0 [ZPLAGES[E043 [+.01 RSTONE 2015/06/30
o % % % W TPLACE 1203 F-— APPROVED BY DATE
3 XX [#6-32 PH/SLOTTED SCREW (STANDARD) STEEL ZINC 02 222" \G/-0 [QPLACE [E--- [ LFHURPHY 2016/07/ 11
2 XX | TERMINAL, WW SN-KT BRASS TIN H % 2 = ; ANGULAR * 2 © MATERIAL NO. DOCUMENT NO. SHEET NO.
11 [INSULATOR POLYESTER (PBT) | BLACK WoF o DRAFT WIERE APTTICABLE] SEE SHEET 2 SD-38711-5302 1 OF 2
oo W\Tm\UNSE\MREENMSA\g‘NS SIZE| THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
IEM | Y | DESCRIPTION MATERIAL FINISH A L B |INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
Rev. G 2012/6i/1 9 8 7 | 6 5 4 | 3 | 2 | 1



10 7 6 5 4 3 2 1
# OF DIM. A’ DIM. B’
CIRCUITS
"XX" in mm in mm
02 83 211 375 9.53
03 1.21 30.7 750 19.05
04 1.58 401 1125 2858
05 1.96 498 1500 3810
06 233 59.2 1875 4763
07 2.71 68.8 2250 57.15
08 3.08 78.2 2625 66.68
03 3.46 87.9 3.000 7620
10 383 973 3375 8573
11 421 107 3750 9525
12 4.58 16 4125 104.78
13 496 126 4500 11430
14 533 135 4875 123.83
15 5.71 145 5.250 13335
16 6.08 154 5.625 142.88
17 6.46 184 6.000 152.40
18 6.83 173 6375 16193
19 7.21 183 6.750 17145
20 7.58 193 7125 180.98
21 7.96 202 7500 190.50
22 8.33 212 7.875 200.03
23 8.71 22 8250 209.55
24 9.08 231 8.625 219.08
25 9.46 240 9.000 228.60
26 9.83 250 9.375 238.13
E % E GENERAL TOLERANCES DIMENSION STYLE SCALE DESIGN UNITS
2ss SYU@B%US (UNLESS SPECIFIED) IN/MM 241 INCH ©d gg\[g%JDECATN‘OGNLE
© g g g R — mm INCH DRAWN BY DATE TIT »
SESSZING/=0 [ZPLACES[E—- |£-— [SYMURTHY  2015/06/30 9.53MM [.375"] SR BTS
S N 3 PLACES |+ -—-- |*.005  |CHECKED BY DATE RA ASSY, NO MTG
oSz =8¢0 [2 PLACES[E045 [+.01 _ RSTONE 2015/06/30
WS ===4Y 1PLACE [£03 + - APPROVED BY DATE
Q=5 E \G/-0 [0PLACE [E— [F-—— |JFMURPHY  2016/07/11
wl % 258 ANGULAR + 2 © MATERIAL NO. DOCUMENT NO. SHEET NO.
oo z=% DRAFT WHERE APPLICABLE| 387112302 SD-38711-5302 2 OF 2
oo W\Tm\UNSE\MREENMSA\g‘NS SIZE| THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX
A g INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
Rew. @ 0/ 7 | 6 5 4 | 3 | 2 | 1



